50m3x40M

P1 P2 P3 P4 S1 S2 S3 S4 K1 K2 K3 K4
15 95 | 100 | 98 98 95 96 97 97 95 94 94 95 1154 1
13 97 94 98 99 93 94 96 95 92 92 90 93 1133 2
11 98 96 99 99 85 88 92 90 96 95 95 97 1130 3
5 94 96 98 98 95 93 93 89 89 93 93 93 1124 4
9 95 96 96 97 90 92 91 94 89 94 94 92 1120 5
7 97 98 96 98 90 89 88 86 94 93 92 94 1115 6
12 98 97 97 96 93 90 92 92 93 90 87 85 1110 7
17 97 94 98 97 92 90 89 96 91 89 94 83 1110 8
10 97 98 97 99 90 88 93 90 85 91 86 92 1106 9
18 95 94 96 98 88 87 85 87 95 93 92 94 1104 10
19 88 95 96 93 92 93 90 91 91 92 89 89 1099 11
4 95 93 94 91 89 89 94 92 89 90 91 91 1098 12
21 95 98 95 96 86 89 92 89 94 90 87 87 1098 13
3 96 94 95 93 85 95 93 93 85 93 85 87 1094 14 | P1=98-2, P3=97-2, S1=87-2, S$3=95-2, K1=87-2
6 97 92 92 95 86 87 91 93 89 90 90 91 1093 15 51=88-2
16 96 95 95 99 88 89 83 84 89 90 92 89 1089 16 S3=95-2, 54=86-2, K4=91-2
8 94 97 99 96 87 85 87 82 92 84 88 94 1085 17
20 96 94 97 96 82 81 91 91 89 87 83 91 1078 18
22 94 94 95 96 82 82 89 80 94 94 90 88 1078 19
25 93 93 95 90 77 91 82 88 96 91 90 91 1077 20 S3=84-2, 54=90-2, K3=92-2
14 96 92 92 93 87 88 93 89 88 86 91 81 1076 21 P4=95-2, K2=88-2, K3=93-2
2 97 95 97 94 86 88 90 93 87 86 71 85 1069 22
24 93 94 93 92 91 85 87 78 92 87 86 89 1067 23 S3=89-2
23 91 88 91 78 81 89 80 95 85 86 81 87 1032 24 P2=90, P4=80-2, S1=85-4, S3=82-2, K3=83-2




